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—. Solve the following differential equations (Note: y' = Z—z, y' = 2 ):

(4x15% » 3 60%)

L Z=y21+1), y0)=1

2. y" -y —6y=0, y(0)=2 y0)=0
3. y'+2y' =3y =2e73

4. Zy(4) + 11ylll + 18yll + 4_yf _ 8)7 =0

=.Given that: (20%)

A=

-2 -4 2
=2 1 2
4 2 5

Find the eigenvalues and eigenvectors of A.

=.Given L[y'] =sY(s)—y(0), L[y"]=5%Y(s) —sy(0) —y'(0), L[sin wt] =

_sszz » solve the following initial value problem using Laplace Transform: (20%)

y"'(t) — 6y'(t) + 15y(t) = 2 sin 3t, y(0) =-1, y'(0) = —4



